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QUESTION 1

Which two of the following are valid targets for the server-side build command? (Choose two.)
A. generated

B. beandoc

C. codetables

D. messages

E. database

Correct Answer: AE

Reference: https://www.ibm.com/developerworks/community/blogs/5e15a5a7-d4d6-4880-bd9ce6819061a832/resource/
HandyGuideToCuramBuildTargets_v1.0.pdf?lang=en

QUESTION 2

The following ACTION_SET is defined at the page level in a UIM file: What is the output from this UIM fragment?

<ACTION_SET ALIGNMENT="CENTER">
<ACTION_CONTROL IMAGE="SaveButton” LABEL="ActionControl.Label.Save"
Type="SUBMIT">
</ACTION_CONTROL>
<SEPARATOR/>
<ACTION_CONTROL IMAGE="CancelButton” LABEL="ActionControl. Label.Edit">
</ACTION_CONTROL>
</ACTION_SET=

A. A page drop-down menu that contains two menu items and one separator.
B. Two buttons that display beside each other next to the page title.
C. Two button that display beside each other below the page title bar.

D. A page drop-down menu that contains two menu items and no separate.

Correct Answer: B

QUESTION 3

Consider this out-of-the-box (OOTB) fagade: Which statement represents a compliant approach when customizing the
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mandatory fields of the createAccount() operation?

wfacaden
EILE} AccountFagade

‘ﬂ;‘«defaultn createAccount ( acc : Account )

A. Change the Mandatory Field option for create createAccount() in a custom facade that subclasses AccountFacade
and set Replace_Superclass=No.

B. Change the Mandatory Field option for create createAccount() in a custom fagade that does not subclass
AccountFagade.

C. Change the Mandatory Field option for create createAccount() in a custom facade that subclasses AccountFagade
and set Replace_Superclass=Yes.

D. It is not possible a Mandatory field option, so a support case should be raised if the developer thinks it needs to be
changed.

Correct Answer: A

QUESTION 4
Consider this warning in the source code editor when EmployerFactory is referenced:

"Discouraged access: The type EmployerFactory is not accessible due to restriction on required library
EJBServer/components/core/lib/core.jar."

Which annotation is EmployerFactory declared with?
A. @AccessLevel(DEPRECATED)

B. @AccessLevel(INTERNAL)

C. @AccessLevel(EXTERNAL)

D. @AccessLevel(RESTRICTED)

Correct Answer: D

QUESTION 5
Which two statements about dynamic conditional clusters are true? (Choose two.)
A. A dynamic cluster will always be displayed when the page initially loads.

B. The implementation of dynamic conditional clusters uses JavaScript.
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C. Dynamic conditional clusters cannot be nested for performance reasons.
D. If a cluster is hidden when the data is submitted, default data is sent to the server.
E. If there are mandatory fields in a hidden cluster, default values are sent to the server when the data is submitted.

Correct Answer: AB

Reference: https://www.ibm.com/support/knowledgecenter/SS8S5A_7.0.9/com.ibm.curam.content.doc/
WebClientReference/r WEBCREF_ReferencelUimDynamicConditionalClusters.html
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